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Which side lengths form a right triangle?

Bin,5in.,131in.} @

A triangle is shown.

Bin,15in.,17in.}
37 m

(Q9in,18in., 28 in}
35m
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1S in.,151in.,15in.) ]
| | Use the Pythagorean Theorem to find the missing measure.
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@ A triangle is shown on a coordinate plane.
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Fill in the table with the ca?n'ect values. S ;
L . . . 2, >
05 - | Sides of AXYZ Length of Side (Length of Side)” |
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\0\ " Select all the statements that describe AXYZ. —

| The sum of the side lengths of XY and YZ is equal to the side length of YZ

1 AXYZ is a right triangle.
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_J The length of XZ is5.
) Thelongestside of AXYZIs XZ.
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4 Ketty lives 63 blocks north of the church. Stan lives 16 blocks east of the church. Ketty
and Stan live 65 blocks away from each other.
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Which statement best explains why the distances between each of these points forma .
right triangle? "
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Each distance is an even number

~ The longest distance is greater than the sum of the shorter distances.
.. The sum of the longer distances is a multiple of the shortest distance.

- The square of the longest distance is egual to the sum of the squares of the
shorter distances.

[
3 L -~ - . _- -
X § o ]
- * Ul '\-.'q;:_;_.__-- L o
R R RO el -

—

T Ty

A rectangular prism has the given dimensions.

] The longest side of A ADE is 13.78 inches.
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, .l The hypotenuse of A ADE is 67.3 inches.
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11.83 inches.
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A triangle is shown.
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Which value of x would make this a right triangle?
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' A sailor leaves the port and sails 35 miles south. Then he turns west and sails another 35

miles.

Haow far is the ship from the port? Round your answer 10 the nearest tenth.
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A graph with coordinates is shown.
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Find x and y Round your answers to the nearest whole number.
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A rope is stretched from the top of a 60 feet pole to a point on the ground 11 feet away
from the base of the pole.

What is the length of the rope?




